L|Ct.

8

-
o
=]

o).
o
IS A%

c X—i_Q_)

o

of| o] Sf = H:

A

of

o o
o= =2

AL A

=2 A&H

gLcr 248
st
=

= So0] 5t A= A YA AFESHR| X

AlZERt =

=
[

| 2147t L= W7EK] 22

o Ik

L
foR

<k
oju
<

H

2730

LI A &lof o] 2=

=
=

13 ot 7]
Opct Ct

S XA
A e

< W of AT D

o ©
K

L|CF.

8

=

e
o

7t A2 LHEFE LT,
X|

=
S

A

a
2
o=

8K R =&
Ol A
M- — =
Ites o

o Atz A MMHO|A HOt
o Free Spins/} &4t k|™

jod Klo
Y
o =
20 &

N R
foll <
w —_

1
z b
i Bl
<k A
ER W
<] Kr
ol <
<H oy
~ z
7o) B3
i 0
= <
= 4o
r =
Bil AN
o g1
N Gigry
K M <r
<0 of T
o IR
K0 6 KR4
AT 1Y
R )
m T =1

M w
Aa 7 =

ot on

Of o of upm
X 0 < F o
<3l 21 o uly
1o KO 5 w o
TKE L —
ar O &r = Ko
i 10 miy 35 =
ol = o &M %

Wl K %0 < 3o

B KOz gpy lo
S0 E BOR
< 30 0] U W Uk
=50 140 O3 o 1o
IR <k R o
_|_._O o o O
=



o At HdlS S=oIHE A HES /M oA O HES /" ol A2 28 210 3
= O[X|X| & LIC

Medallion= 6, 62 WAYS A RS2, 640 M 46,6567t X| Bt S K| &St Avalanche, Avalanche Bl =, 2t wild,
Void Respin X ZI & B =7} QU= Free SpinsE S22 g L|LCY.
Ol AYC| O|2XQl W E& 0|0 & RTP)2 EM3t=l 7|50 2} 96.13% & LI C}:

o ZHESIE|X| 243 96.03%.

WILD Z43tE: 96.09%.
WILD % RESPIN 24 3}HE!: 96.23%.

ME2 1x1, 1x2 R 1x32| N 7HA| 27| 2 LtEtE == JAE LT}

HEQ| A7|t #A Qo] MEL| 7HALt 2it= s YL T}

EA AR

=T él =

wild =2 7|2 A Y2 2,3, 4, 5% EOf| LIEHE 5= 20, Wild 2= 0| 2/d2}tE| ™ Free Spins.
wild &l =22 52| GItolM 2 et A =2 OiMe L

Void Respin &l == 7|2 A Q| 2,3, 4, 5H O LIEFE = R} 2, Void Respin 2= 0| 23}tz H Free Spins.
Void Respin =2 A7 B A= & L|CH

s =

1. Wild &
2. Void Respin =
3. Free Spins =

MEDALLION

Medallion= 7|2 A& 2 E 2| BOM LHEHSE == AT, LIS 7|5 2 ES oL ]
Free Spins ﬁ%% %’gifékﬁ Free Spins7|' §*| %“Sﬁfﬁl l—l I:|'.

Wild 2 E 1} Void Respin 2 E 2 Chg AT EH Mg F L|CL

Free Spins/t ELH 2= 7|5 20| 27|2t& LT}

AVALANCHE

RE =0 Sl =0 Zets|H X[GE L O3 Chg AR 2, A 22 4 =0| L3 =712l s2| 7[=|&

ot L Ct

ot 2t2E LHO|AM HE5H 2l S 2= Avalanche Hi =2 &6 & L|Ct.

Avalanche === 1H]=0| A A|ZFSHH, H255 Ol avalancheOtCF 14 S7FgtL| T
Avalanche Hi == 7|2 A Q2| 22 E ALO|Of| Z=7|=FE LT,



St & WILD

Wwild 2E0] 2-d3te|H, 20| X|5t= 2= wild 20| 2 BN E B=5 S E L
2} =t wild= 2810 A 68 AFO|2| Wild 2 E|Z2}0[0{ & ZHE LIL}.
ol2f 7 of 2 wild7} S2[0fl =05, wild 2E[Z20[0{7F M2 S5 & LIL.

VOID RESPIN

Void Respin 2= 0| 243tk M, 20| £ X|St= Zf Void Respin A &2 2-1071 2 Lt HIYH M=2 XAt
= XA E LT

FREE SPINS

Free Spins<(=) MedallionO|(7}) Free Spins 2 & & 2t [ 24 3}%| 0 20 Free SpinsO|(7}) =0 &l L| C}.
Wild 2= 1} Void Respin 2~ =2 Free Spins & 2t 2ot L|C}.

Avalanche HE[ZE20|0] = EZI X 0| H AT ALO[Of| Z=7|2bE|X| Qi L L.

Free SpinsO|(7h ELtH, 2= 2/d3tE 7|8 AE0| =7|3& LTt

x

FILEHE

RES Al 2ZE 8z 2017 F=2 2} gL

S8 Ay 2ol w2k 2= Al g el 71"?" HHo| S S /LI
EE A0S g 52 ZE A Y AMHA gy SES L

ol HTO A A&l S AL LC



